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For full érédit, show your workf: :
1. Calculate the volume of a block that is 3.4cm x 1.5cm x 2.191cm. (Hint, some people are

helped by drawing the shape first.)**
3 qxV.622.1% = ||lewd

2. Calculate the volume of a cube that is 3.096 on each edge.**

30 <3.0%6x3.0% =298 cm’

3. What is the perimeter of a rectangle that is 4.628cm x 3.4cm?** _ [ (9 OSC? e lé \
= 3 %%
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Determine the number of significant figures in
the following measurements.
3) 104.20g___ € € 9) 190.60 g -? (VA4
4) 1,700,000 km_YwWo 10)1.0004230 g@k\'_
7 5) 0.00020kg____two 11)0.004200 m__You
6) 8420cm___Foul 12)7000.07 mm__>t X
7) 640,002 m S\x 13)35,000 km___—T &

8) 10,000 s ohe

Round each of the following to 3 significant figures.

14)1.2793 kg 1.2% % 0012455 0.0l 25
15)10625kpa__ LOGOB 10600,  18)101005_ 1D

16)37486 m___ 21500, 19)2453 g
L ]

** remember to use significant figures when rounding your answer 3
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Round each number to the nearest hundred.

1)
2)
3)
4)

)

332

327
859

863

200
200
900

9% - -

6)
7)
0)
9)

10)

Round each number to the nearest hundred.

1)
2)
3)
4))

5)

9,551
5,379
1425
6,947

3,196

)
8)
9)

10)

Angwets

533 <

749

749

734
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